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The two windows of 500 ticks are used to integrate the signal and filling the histograms.

The window [0:1000] is used to evaluate the baseline.

In some case there are PEs in the first 1000 ticks.

They are been located and analyzed in order to remove their contribute from the baseline evaluation
and secondly to get a histogram from them.

For channels 142, 143 and 274, because the PE packs low resolution, the SPE
peak, got from the first 1000 ticks window integration, is used for the calibration.



The calibration is got fitting the first 4 packs of the integrate charge histograms using a
gaussian function. Then a linear fit is made with the mean of each Gaussian.

For channels 142, 143 and 274, because the PE packs low resolution, the SPE peak, got from the first

1000 ticks window integration, is used for the calibration.

Here is reported the mean of the Gaussians used for the histograms peaks fit.
The unit is (ADUs x ticks)

In columns “###” is reported the Gaussian mean value of the fit.
In columns “D###” is reported the Gaussian mean value error of the fit.
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Fitting the Gaussians mean for each channel with: f(x) =A-x+B

Ch

132
133
134
135
136
137
138
139
140
141
142
143

Parameter A

782.1 +/-6.7
749.7 +/-4.5
780.2 +/-5.9
783.2 +/-9.9
812.3 +/-6.9
665.1 +/-1.2
736.3 +/-9.8
630.5 +/-1.6
672.7 +/-9.9
627.6 +/-8.7
720.6 +/-13.2
744.0 +/-14.1

Parameter B

-41.1 +/-12.5
-37.8 +/- 8.4
-40.8 +/- 11.0
-24.8 +/-18.5
-53.7 +/- 9.3
-39.4 +/- 2.8
-63.5 +/- 23.9
-13.2 +/- 3.8
-57.0 +/- 24.3
-2.0 +/-21.3

Ch

264
265
266
267
268
269
270
271
272
273
274
275

Parameter A

758.1 +/-3.6
779.8 +/-3.4
772.3 +/-5.9
627.8 +/-2.2
804.0 +/-6.7
636.5 +/-4.5
668.4 +/-2.9
737.7 +/-1.8
638.4 +/-10.1
754.5 +/-21.8
708.8 +/-10.9
831.2 +/-3.0

Parameter B

-31.8 +/- 8.8
-19.5 +/- 8.3
-38.7 +/- 14.7
-5.7 +/-5.6
-45.0 +/- 16.4
-38.4 +/-11.2
-27.8 +/-7.2
-6.3 +/-4.3
-47.9 +/-24.8
-39.4 +/- 31.0

-65.9 +/-7.4

The values for the SPE calibration is represented by parameter A.
It is reported in:

ADUs X ticks

(0.244mV) x (6.67 ns)

For the channel in “red” is reported the mean of the Gaussian used to fit
the 1st peak of the histograms got with the integrated charge in the first
1000 ticks of the waveforms.
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